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(1/4)

Address Generator

(RAM)

ALU

16

Multiplier

17x17

Program Counter

(15 32K )

Peripheral Control
Registers

ADC/DAC/INT

RAM

(2K 0x0000 ~ OXO7FFF)

SR

(Status register, SR) carry/zero/overflow

Stack

16

w/C

Word/Cycle( / )

+l -1*1/

[]

(RAM)




(2/4)

(Operand)

RO~R7

Rd

(RO~ R7)

Rs

(RO ~ RY)

Rt

(RO ~ R7)

Rn

(RO ~ R7)

b

0~15

#Hmmo6

0~63

#Hmm8

0~ 255

#Himm16

16

0~ 65535

RAM16

RAM 16

RAMS8

RAM 8

B

IC

P ]

(ROM)

10[ ]

1/O space

<abs ADDR>

16 )




(3/4)

(SR )

(test flag)

(negative flag)

(zero flag)

(overflow flag)

(carry flag)

+ | O|<|N|[Z2Z2]|H




(4/4)

$addrl6 16 RAM

$addr8 8 RAM

Long_addr longjump 16

Short_addr short jump 16 (PC + 1 + #offset)
L _addr long calll 16

S addr shortcall 14

+ = ( )

&, |, ™~ AND OR XOR 1 (




4.2

MOV, IN, OUT, PUSH, POP, SP

ADD, ADC, SUB, SUBB, INC, DEC

AND, OR, XOR, COM, NEG, SWAP, CMP, CLR

SHL, SHR, ROL, ROR, ASR

BS, BC, BTEST, BTG 10

JCC, JCS, LS, JGE, (S)JIMP, (L)IMP...

(S)CALL, (L)CALL, RET, RETI, RPT, LOOP, TRAP, NOP

DSP

MUL.UU, MUL.US, MUL.SU, MUL.SS, MAC, MAS, DIV,
DIVS




4.2.1 (1/4)

. MOV IN OUT PUSH
POP
MOV
(LOAD)
(STORE) IN OUT

/0 PUSH POP
( 1/O )




4.2.1

(2/4)

MOV

WI/C
Rd=Rs Rs—Rd 1/1
Rd = [R] [Rs]—>Rd 1/1
Rd = [Rs++] [Rs++]—>Rd 1/1
Rd = [Rs--] [Rs-]—>Rd 1/1
Rd = P[R9 P[Rs|—Rd 1/2(1)
Rd = P[Rs++] P[Rs++]—>Rd 1/2(1)
[Rd++] = P[Rs--] P[Rs-] >[Rd++] 1/2(2)
[Rd++] = P[Rs++] P[Rs++]—[Rd++] 1/2(1)
Rd = P[Rs] P[Rs-]—Rd 1/2(1)
[Rd] = P[Rs++] P[Rs++]—[Rd] 1/2(2)
[Rd--] = P[Rs--] P[Rs-]—[Rd--] 1/2(2)




4.2.1

(3/4)

MOV

W/C
[Rd] = P[R9 P[Rs|—[Rd] 1/2(1)
[Rd++] = P[Rs] P[Rs| »>[Rd++] 1/2(1)
[Rd] =Rs Rs—[Rd] 1/1
[Rd++] = Rs Rs— [Rd++] 11
[Rd--] =Rs Rs—[Rd--] 1/1
Rd = RAM16 $addr16 — Rd 2/2
RAM16 = Rs Rs— $addrl6 2/2
[Rd] = #imm16 #imm16 — [Rd] 212
Rd.| = #imm8 #Himm8—Rd.l; 0—Rd.h 1/1
Rd.h =#mm3 #imm8—Rd.h 1/1




4.2.1

(4/4)

IN/OUT

WI/C
Rd = IO[Addr] |O[Addr] - Rd 1/1
|O[Addr] =Rs Rs — |O[Addr] 1/1
PUSH/POP/SP

WI/C
PUSH Rn 1. Rn —> TOS 2. SP-1— SP 1/1
PUSH IO[Addr] 1.1/0 - TOS 2. SP-1— SP 1/1
POP Rn 1. SP+1 — SP 2. TOS— Rn 1/1
POP |O[Addr] 1. SP+1 — SP 2.TOS — |O[Addr] 1/1
SP=SP + #imm6 SP + #imm6 — SP 1/1
SP=SP — #imm6 SP — #imm6 — SP 1/1




4.2.2

(1/4)

ADD

W/C
Rd = Rst+Rt Rs+Rt —> Rd 1/1
[Rd] = Rst+Rt Rs+Rt — [Rd] 1/1
Rd = [Rg]+Rt [Rs]+Rt — Rd 1/1
Rd = Rd+#imm6 Rd+#mm6 — Rd 1/1
Rd = Rs+t#imm16 Rst+#mm16 — Rd 2/2
[Rd] = Rst#imm16 Rs+# mm16— [Rd] 2/2
Rd = RstRAM16 Rs+ $addr16 — Rd 2/2
Rd++ Rd+1— Rd 1/1
Rd - - Rd-1— Rd 1/1




4.2.2

(2/4)

ADC
WI/C
Rd = Rs+Rt+C Rs+Rt+C — Rd 1/1
[Rd] = RstRt+C Rst+Rt+C — [Rd] 1/1
Rd = [Rg]+Rt+C [Rs]+Rt+C — Rd 1/1
Rd = Rd+#imm6+C Rd+#mm6+C — Rd 1/1
Rd = Rs+t#imm16+C Rs+#mm16+C — Rd 2/2
[Rd] = Rs+t#imm16+C Rs+#mm16+C— [Rd] 212
Rd = RstRAM16+C Rs+ $addr16+C — Rd 212




4.2.2

(3/4)

SUB

W/C
Rd = Rs-Rt Rs-Rt — Rd 11
[Rd] = Rs-Rt Rs-Rt — [Rd] 1/1
Rd = [Rs]-Rt [Rs]-Rt — Rd /1
Rd = Rd-#mm6 Rd-#mm6 — Rd 1/1
Rd = Rs-#mm16 Rs-#mm16 — Rd 2/2
[Rd] = Rs—#imm16 Rs—#mm16 — [Rd] 2/2
Rd = Rs-RAM 16 Rs-$addr16 — Rd 2/2




4.2.2 (4/4)
SUBB

W/C
Rd=Rs-Rt-B Rs-Rt-/C — Rd 1/1
[Rd]=Rs-Rt-B Rs-Rt—/C — [Rd] /1
Rd=[Rs]-Rt-B [Rs]-Rt-/C - Rd 1/1
Rd=Rd-# mm6-B Rd-#mm6-/C — Rd 11
Rd=Rs-#mm16-B Rs-#1mm16-/C — Rd 2/2
[Rd]|=Rs-#mm16-B Rs-#mm16-/C — [Rd] 2/2
Rd=Rs-RAM16-B Rs- $addr16-/C — Rd 2/2




4.2.3

(1/5)

AND

W/C
Rd=Rs AND Rt Rs& Rt - Rd 11
[Rd]=Rs AND Rt Rs& Rt - [Rd] 11
Rd=[Rs] AND Rt [RY&Rt - Rd 11
Rd=Rd AND #mm6 Rd&#imm6 - Rd 1/1
Rd=Rs AND #imm16 Rs&#mml6 - Rd 2/2
[Rd]=Rs AND #mm16 Rs&#imm16 - [Rd] 2/2
Rd=Rs AND RAM 16 Rs& $addr1l6 - Rd 2/2




4.2.3

(2/5)

OR

W/C
Rd=Rs OR Rt Rs|Rt — Rd 1/1
[Rd]=Rs OR Rt Rs|Rt — [Rd] 11
Rd=[Rs] OR Rt [Rg] | Rt — Rd 1/1
Rd=Rd OR #mm6 Rd | #mm6 — Rd 11
Rd=Rs OR #mm16 Rs | #mm16 — Rd 1/2(1)
[Rd]=Rs OR #mm16 Rs | #imm16 — [Rd] 1/2(1)

Rd=Rs OR RAM 16

Rs | $addr16 — Rd

1/2(1)




4.2.3

(3/5)

XOR
W/C
Rd=Rs XOR Rt Rs"Rt — Rd 1/1
[Rd]=Rs XOR Rt Rs"Rt — [Rd] 1/1
Rd=[Rs] XOR Rt [Rs]"Rt — Rd 1/1
Rd=Rd XOR #mmé6 Rd#imm6 — Rd 1/1
Rd=Rs XOR #mm16 Rsimm16 — Rd 212
[Rd]=Rs XOR #imm16 Rs“#imm16— [Rd] 2/2
Rd=Rs XOR RAM 16 Rs" $addr16 — Rd 2/2




4.2.3

(4/5)

COM
W/C
Rd = COM Rs ~Rs — Rd 1/1
NEG
W/C
RA=NEG Rs ~Rs+1 —» Rd 1/1
SWAP
W/C
SWAPRs RY15:8]«<>Rg7:0] 1/1




4.2.3

(5/5)

CMP

WI/C
CMP Rs, Rt Rs-Rt, update SR register 1/1
CMPRs, [Rt] Rs-{Rt], update SR register 1/1
CMP Rs, [Rt++] RsRt++],update SR register 1/1
CMPRs, [Rt--] Rs{Rt--],update SR register 1/1
CMPRs, P[Rt] Rs—P[Rt] ,update SR register 1/2(1)
CMP Rs, P[Rt++] Rs—P[Rt++],update SR register 1/2(1)
CMP[Rs++], P[Rt--] [Rs++]—-P[Rt--],update SR register 1/2(1)
CMP [Rst++], P[Rt++] | [Rs++]—-P[Rt++],update SR register 1/2(1)




4.2.4 (1/3)

SHL
wW/C
Rd=SHL Rs | 1. Rs—» Rd 1/1
2 Rd[15] - C Rd[14:0] - RA[15:1] 0 —> Rd[0]
15 0
C |le——o <+—— 0 SHL
SHR
W/C
Rd&=SHRRs | 1. Rs— Rd 1/1

2.RA[0] > C Rd[15:1] — Rd[14:0] 0 —> Rd[15]

15 0
0 —» ——»| C SHR




4.2.4

(2/3)

ROL

ROL
W/C
Rd=ROL Rs|1.Rs— Rd 1/1
2.C—> Rd[0] Rd[14:0] > Rd[15:1]] Rd[15] > C
15 0 J
C |a——
ROR
W/C
Rd=RORRs | 1. Rs— Rd 1/1
2.C—> Rd[15] Rd[15:1] > Rd[14:0] Rd[0] > C
L 15 0
» C ROR




4.2.4 (3/3)
ASR
W/C
Rd=ASR | 1.Rs— Rd 11
Rs 2.Rd[0] > C Rd[15:1] — Rd[14:0] Rd[15] —
Rd[15]
15 0

ASR



4.2.5

(Bit)

(1/2)

BS
W/C
BSRd.b 1->Rd[bit b] 11
BSIO[IO_addr].b 1510 _addr[bit b] 11
BSRAM_addr.b 1>RAM_addr[bit b] 11
BC
W/C
BC Rd.b 0—>Rd[bit b] 11
BC I0[IO_addr].b 010 _addr[bit b] 1/1
BC RAM_addr.b 0—>RAM_addr[bit b] 11




4.2.5 (Bit) (2/2)
BTEST

W/C
BTEST Rd.b Test Rd.b — Test Flag V1
BTEST IO[IO_addr].b Test |O_addr.b — Test Flag 11
BTEST RAM_addr.b Test RAM_addr.b — Test Flag /1
BTG

W/C
BTG Rd.b ~Rd.b > Rd.b 11
BTG IO[1O_addr].b ~10_addr.b— 10_addr.b 11
BTG RAM_addr.b ~RAM_addr.b — RAM_addr.b 11




4.2.6 (1/6)
JMP

WI/C
IMPRs Rs— PC 172
JMP Long_addr Long_addr—PC 2/2
JMP Short_addr PC+1+Offset—PC 1/1(2)
JCC

WI/C
IFCCJIMPLong addr |If C==0, Long_addr—PC 2/2

IF CC IMP Short_addr

If C==0, PC+1+Offest—>PC

11(2)




4.2.6

(2/6)

JCS

WI/C
|IF CSJIMP Long_addr If C==1, Long _addr » PC 2/2
|F CS JMP Short_addr If C==1, PC+1+Offset > PC 1/1(2)
JVC

WI/C
IFVC IMP Long_addr If V==0, Long_addr—PC 2/2
|F VC JMP Short_addr If V== 0, PC+1+Offset—>PC 1/1(2)
JVS

WI/C
IFVSJIMP Long_addr If V ==1, Long_addr—PC 2/2

IFVSJIMP Short_addr

If V ==1, PC+1+Offset—>PC

11(2)




4.2.6 (3/6)
JMI
WI/C
IF M1 IMP Long_addr If N ==1,Long_addr—PC 2/2
|F MI IMP Short_addr If N ==1,PC+1+Offset—PC 1/1(2)
JPL
WI/C
IF PL JMP Long_addr If N==0, Long_addr—PC 2/2
|F PL IMP Short_addr If N == 0,PC+1+Offset—PC 1/1(2)
JTC
WI/C
|IF TC IMP Long_addr If T==0, Long_addr—PC 2/2

IF TC JMP Short_addr

If T ==0,PC+1+Offset—PC

1/1(2)




4.2.6 (4/6)
JTS
wW/C
IF TS IMP Long_addr If T==1, Long_addr—PC 2/2
IF TS JMP Short_addr If T==1PC+1+Offset—>PC 1/1(2)
JGT
WI/C
IF GT JMP Long_addr If [Z ] (N*V) ==0],Long_addr - PC 2/2
|F GT JMP Short_addr If [Z | (NAV) == Q],PC+1+Offset —» PC 1/1(2)
JGE
wW/C
|F GE JMP Long_addr If [(N”V)==0],Long_addr - PC 2/2

|F GE JMP Short_addr

If [(N ~ V) = = 0],PC+1+Offset - PC

1/1(2)




4.2.6

(5/6)

JHS
w/C
|IFHS JMP Long_addr If C==1, Long_addr —» PC 2/2
|IF HS IMP Short_addr If C==1, PC+1+Offset - PC 1/1(2)
JEQ
W/C
IF EQ JMP Long_addr If Z==1, Long _addr —» PC 2/2
|IF EQ JMP Short_addr If Z==1, PC+1+Offset—>PC 1/1(2)
JNE
wW/C
IF NE JMP Long_addr If Z==0, Long_addr —» PC 2/2

|F NE IMP Short_addr

If Z==0, PC+1+Offset—>PC

1/1(2)




A4
O
O
O
O
4.2.6 (6/6) :
JLE
wW/C
IFLEJMPLong_addr |If[Z]|(N*V)==1],Long addr- PC 2/2
IFLEIMP Short_addr | If [Z | (N?V) = = 1],PC+1+Offset —» PC 1/1(2)
JLO
wW/C
IFLOJMPLong addr | If C==0, Long _addr—PC 2/2
IFLO JMP Short_addr | If C==0, PC+1+Offest—>PC 1/1(2)
JLS
W/C
IFLSIMPLong addr [If[(C==0)]|(Z==1)],Long addr - PC 2/2

IF LS IMP Short_addr

If [(C==0)|(Z = = 1)],PC+1+Offset . PC

11(2)




4.2.7

(1/3)

CALL
wW/C
CALL Rd 1.SP-1—->SP 2. PC+1 —» TOS 1/1
3. Rd— PC
CALL L_addr 1.SP-1—->SP 2. PC+1 —> TOS 2/2
3. 16 bit address— PC
CALL S addr 1.SP-1—->SP 2. PC+1 —> TOS 1/1
3.{00,14 bit address} — PC
RET/RETI
W/C
1. Top of stack — PC 1/2
RET 2. SP+1->SP
RET 1. Top of stack— PC 1/2

2. SP+1->SP 3.0—- GIE




4.2.7

(2/3)

RPT

W/C
RPT Rn Rn—RC /1
RPT #imm6 #Himmo—RC 1/1
LOOP

W/C

1. Rn—>LC
LECI)\I%PLR” 2 PC + 1L SA 11
' 3. End loop—LEA
. 1. #imm6 —LC

LECI)\I%FL#' mmo 2 PC + 1L SA 11
' 3. End_loop—LEA




4.2.7

(3/3)

TRAP
WI/C
1. PC+1->TOS
TRAP #mm6 2. SP-1->SP 1/1
3. (imm6 vector number*2) — PC
4. GIE—>O0
NOP
W/C
NOP PC+1— PC 1/1




428 DSP
MUL.SS

W/C
D=Rs*R{(SS) Rs.S*Rt.S—D 11
D=Rs*[R{] (SS) Rs.S*[R{].S—>D 1/1
D=Rs*[Rt++](SS) Rs.S*[Rt++].S—>D 11
D=Rs*[Rt--](SS) Rs.S*[Rt—].S—>D 11
D=Rs*P[R{](SS) Rs.S*P[Rt].S— D 1/2(1)
D=Rs*P[Rt++](SS) Rs.S*P[Rt++].S—D 1/2(1)
D=[Rs++]* P[Rt--](SS) [Rs++].S* P[Rt—].S—D 1/2(1)
D=[Rs++]* P[Rt++](SS) [Rs++].S*P[Rt++].S — D 1/2(1)




4.2.8 DSP

MUL.SU

wW/C
D=Rs*Rt(SU) Rs.S*Rt.U —» D 1/1
D=Rs*[Rt] (SU) Rs.S*[Rt].U — D 1/1
D=Rs*[Rt++](SU) Rs.S*[Rt++].U > D 1/1
D=Rs*[Rt--](SU) Rs.S*[Rt--].U > D 1/1
D=Rs*P[Rt]( SU) Rs.S*P[Rt].U - D 1/2(1)
D=Rs* F[Rt++](SU) Rs.S*P[Rt++].U — D 1/2(1)
D=[Rs++]* P[Rt--](SU) [Rs++].S*P[Rt—].U - D 1/2(1)
D=[Rs++]* P[Rt++](SU) [Rs++].S*P[Rt++].U —»> D 1/2(1)




4.2.8 DSP

MUL.US

W/C
D=Rs*Rt(US) Rs.U*Rt.S— D 1/1
D=Rs*[Rt] (US) Rs.U*[Rt].S— D 11
D=Rs*[Rt++](US) Rs.U*[Rt++].S— D 11
D=Rs*[Rt--](US) Rs.U*[Rt--].S— D 11
D=Rs* P[Rt](US) Rs.U*P[R].S— D 1/2(1)
D=Rs* P[Rt++](US) Rs.U*P[Rt++].S — D 1/2(1)
D=[Rs++]* P[Rt--](US) [Rs++].U*P[Rt—].S— D 1/2(1)

D=[Rst++]* P[Rt++](US)

[Rs++].U*P[Rt++].S — D

1/2(1)




42.8 DSP

MUL.UU

WI/C
D=Rs*Rt(UU) RsU*RtU > D 1/1
D=Rs*[R{] (UV) Rs.U*[Rt].U »> D 1/1
D=Rs*[Rt++](UU) Rs.U*[Rt++].U > D 1/1
D=Rs*[Rt--](UV) RsU*[Rt--].U > D 1/1
D=Rs*P[Rt](UV) Rs.U*P[Rt].U > D 1/2(1)
D=Rs* P[Rt++](UU) Rs.U*P[Rt++].U — D 1/2(1)
D=[Rs++]* P[Rt--](UV) [Rs++].U*P[Rt—].U = D 1/2(1)
D=[Rs++]* P[Rt++](UU) [Rs++].U*P[Rt++].U —> D 1/2(1)




4.2.8

DSP

DIV.S
W/C
D=D/Rs(S) Signed [R1:R0] / Rs — RO = Quotient 1/17(16)
DIV.U
W/C
D=D/Rs Unsigned [R1:R0] / Rs—R0 = Quotient 1/17(16)




4.2.8 DSP

MAC

WI/C
D=D+Rs*Rt D+Rs*Rt - D 1/1
D=D+Rs*[Ri] D+Rs*[Rt] > D 1/1
D=D+Rs*[Rt++] D+Rs*[Rt++] > D 1/1
D=D+Rs*[Rt--] D+Rs*[Rt--] - D 1/1
D=D+Rs* P[Ri] D+Rs*P[Rt] - D 1/2(1)
D=D+Rs* P[Rt++] D+Rs*P[Rt++] —» D 1/2(1)
D=D+[Rst++]* P[Rt--] D+[Rs++]*P[Rt--] - D 1/2(1)
D=D+[Rs++]* P[Rt++] D+[Rs++]*P[Rt++] —» D 1/2(1)




4.2.8 DSP

MAS

W/C
D=D-Rs*Rt D-Rs*Rt —» D 1/1
D=D-Rs*[Rt] D-Rs*[Rt] > D 1/1
D=D-Rs*[Rt++] D-Rs*[Rt++] - D 1/1
D=D-Rs*[Rt--] D-Rs*[Rt--] > D 1/1
D=D-Rs*P[Rt] D-Rs*P[Rt] - D 1/2(1)
D=D-Rs* P[Rt++] D-Rs*P[Rt++] - D 1/2(1)
D=D-[Rs++]* P[Rt--] D-[Rst++]*P[Rt--] > D 1/2(1)
D=D-[Rs++]* P[Rt++] D-[Rs++]*P[Rt++] - D 1/2(1)




